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INSTRUCTIONS 

Note: These are the instructions (translated in English) for the Baseline treatment. For the 

Identity treatments (IDUR-IDIR), a few sentences have been inserted in italics into brackets 

[*** … ***]. 

You will participate in an experiment whose objective is to study individual decision-

making. You will have to make a series of decisions that will be explained in the following. 

These instructions are simple. If you follow them carefully, you may earn a significant amount 

of money. 

Your earnings will depend on your decisions and in some situations, on other 

participants’ decisions. Therefore, it is very important to read these instructions with attention. 

Your final payoff will be equal to the sum of your payoffs in each part of this experiment, plus 

a show-up fee of 3 euros. 

All your answers will be processed anonymously (with respect to the other participants 

and to the experimenters). We insist on the fact that communication among participants is 

forbidden. If you do not comply with this rule, you may be excluded from the experiment and 

earn nothing. 

[*** Treatments IDUR-IDIR―Before starting the experiment, please open the envelop which 

is on your table. In that envelop is a colored card: red or blue. That color represents the group 

of 6 participants with which you will interact in part 1 of the experiment. You will stay in that 

group (the red group or the blue group) for the whole experiment. ***] 

Part 1. 

 In this game, you will collaborate with five other players in order to answer to general 

culture questions. [*** Treatments IDUR-IDIR―The six of you are all in the same color group 

(red or blue group) ***]. For each correct answer your team will give, each group member 

will earn €0.20 (including you). This first part will last 15 minutes. 

Here is a screen shot example of the software that you will use: 



 

 

 

[translation] 

 

Remaining time for 

phase 1 

Please answer the 

question: 

“In mythology, how 

many labors did 

Hercules 

accomplish?” 

Next 

Player 2 (Me): “I 

don’t know, who 

knows the answer?” 

 

 

 

 

The question is displayed in the middle of the screen. You will have to tape your answer on 

keyboard and then click on “Next” [“Suivant”] in order to enter it. If your answer is correct, 

you will be notified of it and then move to the next question. If your answer is incorrect, an 

error message will be displayed, and then you will have the opportunity to enter another answer. 

There is no penalty for wrong answers, so that you may propose as many answers as you wish. 

At the bottom of the screen, a chat window will allow you to discuss with the five other 

members of your group. The messages will only be readable by your group members. 

[*** Treatments IDUR-IDIR―Hence, blue group members will only see the messages from 

blue group members. Red group members will only see the messages from red group 

members.  ***] A pseudo (player 1, 2, 3, 4 or 5) will be randomly assigned to each of you for 

this part of the experiment only. You are free in the use of this chat window. For example, you 

may ask the other group members the answer of the current question. You may also tell them 

the answer of the question if you know it. The only restriction is that you may not reveal your 

identity or even give hints on your identity to the other group members. If you do so, you will 

be excluded from the experiment and will not earn anything. 

 

When the correct answer has been entered, the following screen is displayed: 



 

 

 

[translation] 

Your answer is 

correct! 

When the six 

members of your 

group will have 

answered the 

question, you will 

move to the next 

question. 

Player 2: “I don’t 

know, does anybody 

know the answer?” 

“It’s 12!” 

 

 

This screen informs you that your answer is correct. As long as the other members of your 

group have not correctly answered the current question, you will stay on this waiting screen. 

The chat window remains active, and you can send the other members the correct answer in 

order to enable them answer the question. 

When the six group members have correctly answered the question, everybody moves to the 

next question. A new question screen similar to the previous one will be displayed, and you 

will have to find the correct answer again. 

Please note that the answers are always numbers between 0 et 9999. 

When the 15 minutes of part 1 will be completed, the game will stop automatically. The 

instructions of part 2 will be distributed to participants. 

 

Your payoff for part 1 of the experiment: 

€0.20 x Number of correct answers provided by your group. 

Part 2. 

In this part of the experiment, you will play with two other participants picked up at random. 

One of you will be designated as “participant A”, another one as “participant B” and the last 

one as “participant C”. Hence, there are three different roles in this part of the experiment. You 

will be informed of your role at the beginning of part 2. 

At the beginning of this part, participants A et C receive 10 euros each, while participant B gets 

15 euros. In the first step, only participants A and B make a decision. Participant C makes his 

decision in a second step. Let us describe first the decision of participant A and then the decision 

of participants B. Only one of these decisions will be implemented in the experiment, with equal 

probability. 

Participant A may use his/her endowment of 10 euros to send any amount he/she wishes to 

participant C. The remaining amount is kept by participant A. The amount sent to C is tripled. 



 

 

For instance, if the amount sent to C is of 2 euros, then C receives 6 euros. If the amount sent 

is of 8 euros, then C receives 24 euros. Participant C may then use the received amount to return 

any amount he/she wishes to participant A. The returned amount is not tripled. 

[*** This screen is for treatment Baseline only: ***] 

 

[translation] 

YOUR CHOICE 

You are participant 

A. You are endowed 

with 10 euros. How 

much are you willing 

to send to participant 

C? 

Please enter an 

amount between 0 

and 10: 

[*** Treatments IDUR-IDIR―When participant A makes his/her decision, he/she is informed 

of the groups (red or blue) of participants B and C. 

 

[translation] 

YOUR CHOICE 

You are participant A. You are endowed with 

10 euros.  

Participant B is in the RED group. 

Participant C is in the BLUE group. 

How much are you willing to send to 

participant C? 

Please enter an amount between 0 and 10: 

 ***] 

Participant B is placed in a similar situation as participant A, except that he/she does not use 

his/her endowment but that of participant A. Thus, participant B may use participant A’s 

endowment of 10 euros to send any amount to participant C. The remaining amount is kept by 

participant A. The amount sent to C is tripled. Participant C may then use the received amount 

to return any amount to participant A. The returned amount is not tripled. 

 

[*** This screen is for treatment Baseline only: ***] 



 

 

 

[translation] 

YOUR CHOICE 

You are participant 

B. Participant A is 

endowed with 10 

euros. How much are 

you willing to send to 

participant C? 

Please enter an 

amount between 0 

and 10: 

[*** Treatments IDUR-IDIR―When participant B makes his/her decision, he/she is informed 

of the groups (red or blue) of participants A and C. 

 

[translation] 

YOUR CHOICE 

You are participant B. Participant A is 

endowed with 10 euros  

Participant A is in group RED. 

Participant C is in group BLUE. 

How much are you willing to send to 

participant C? 

Please enter an amount between 0 and 10: 

 ***] 

 

Once both participants A and B have made their decision, only one of the two decisions is 

selected at random by the computer to be implemented. 

 If participant A’s decision is selected, then the amount chosen by participant A is subtracted 

from participant A’s endowment and participant C receives this amount (× 3). 

 If participant B’s decision is selected, then the amount chosen by participant B is subtracted 

from participant A’s endowment and participant C receives this amount (× 3). 

Participant C does not know whether the received amount comes from participant A or from 

participant B. He/she observes the amount sent and which is multiplied by 3. He/she may then 

return any amount to participant A. This amount lies between 0 and the received amount, 

multiplied by 3. 

[*** Treatments IDUR―When participant C makes his/her decision, he/she is not informed 

of the groups (red or blue) of participants A and C. ***] 

 

[*** This screen is for treatments Baseline and IDUR only: ***] 

A



 

 

 

[translation] 

YOUR CHOICE 

You are participant 

C. Participant A and 

participant B have 

decided to send you 

an amount of money. 

One of these 

decisions has 

randomly been 

implemented. 

The participant who 

was randomly 

selected sent you ██ 

euros. Hence, you 

receive ██ euros. 

How much are you 

willing to return to 

participant A? 

 

[*** Treatments IDIR―When participant C makes his/her decision, he/she is informed of the 

groups (red or blue) of participants A and C. 

 

[translation] 

YOUR CHOICE 

You are participant C. 

Participant A and 

participant B have decided to 

send you an amount of 

money. One of these 

decisions has randomly been 

implemented. 

Participant A is in group █. 

Participant B is in group █. 

 

The participant who was 

randomly selected sent you 

██ euros. Hence, you 

receive ██ euros. How much 

are you willing to return to 

participant A? 

 ***] 

 

To summarize, participant B will always have a fixed payoff of 15 euros whereas participants 

A and C’s payoffs depend on other participants’ decisions.  



 

 

Your payoff for part 2 of the experiment: 

If you are a participant A: 

If your decision is taken into account: 

€10 – (Amount sent by you) + (Amount returned by participant C) 

If participant B’s decision is taken into account: 

€10 – (Amount sent by participant B) + (Amount returned by participant C) 

If you are a participant B: 

15€ 

If are a participant C: 

€10 + (Amount send by A or B) × 3 – (Amount returned to participant A) 

 

The following questions, along with standard questions asking for demographic information 

(gender, age, level of study), were addressed to the participants at the end of the experiment. 

Please rate from 1 (totally disagree) to 10 (absolutely agree) the following affirmations: 

1- I tend to take risks in my everyday life. 

2- I tend to trust others in my everyday life. 

3- I care about other’ welfare and I do not act only for myself. 

The following questions were addressed to participants in roles A and B. The formulation of 

the question automatically adapted to (i) the role of the participant and (ii) the decision of the 

participant to send a positive amount or not. We only display the questions addressed to a 

participant in role A, who decided to send a positive amount to the recipient. 

1- What reasons lead you to send a positive amount to player C? 

a. I trusted player C to send back more than the amount I sent. 

b. I wanted to increase the profit of player C. 

c. I wanted to increase our global payoff, as the amount sent was multiplied by 

3. 

d. None of the above (please write down your specific reason). 

2- Would you have sent another amount to player C if you were in the role of 

intermediary? 

a. I would have sent more. 

b. I would have sent less. 

c. My choice would not have been different. 



 

 

3- Your choice had a fifty percent chance of being implemented. Did this random 

component affect your decision? 

a. Yes 

b. No 

4- Did you feel closer to the members of your group (Red/Blue) than members of the 

other group? 

a. Yes 

b. No 

5- How did belonging to a group (Red/Blue) affect your decision 

Participants were asked to write a couple of sentences. 

The following questions were addressed to participants in role C. The formulation of the 

question automatically adapted to the decision of the participant to send back a positive 

amount or not. We only display the questions addressed to a participant in role C, who decided 

to send a positive amount back to the owner. 

1- What reasons lead you to send back a positive amount to player A? 

a. It is normal to send back when one receives something. 

b. I wanted to increase the profit of player A. 

c. I wanted to even the payoffs in the group out. 

d. None of the above (please write down your specific reason). 

 

 

2- You were not aware of which decision (player A or player B) was randomly 

implemented. Did this lack of information affect your decision? 

a. Yes 

b. No 

3- Did you feel closer to the members of your group (Red/Blue) than members of the 

other group? 

a. Yes 

b. No 

4- How did belonging to a group (Red/Blue) affect your decision 

Participants were asked to write a couple of sentences. 
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